oMo end
242, Math 201, Exam 1 Page 1 of 8 | MASTER |
-
1. The parametric curve - m N 2k G =
~ U3 =k =3 -
_ L c=24+8, y=1+t+¢ ,Jz:j “-\‘3’/3& =35 r3 M Y < +-?':'L
S [0 = = e 4
b . ()xz (Jx/Jt z &
18 ~3 *
A [__l !-St.]
l..‘
|
(a) concave downward on ( 0, — (correct)

™

(b) concave downward on (0, c0) ut

: ) =) Cr . s

&lH

(c) concave downward on (

(d) concave upward on ( ) A = =
V3 V3 £ e
(e) concave upward on (0, o) N / o
2. The graph of the parametric curve
N HYL
S 161 r =sint, y = cos(2t), t € (—o0, 00)
5 Bl =i
I8 Coclek) =\ — 25k
e :\j = 1=-2 3(2_
(a) part of a parabola (correct)
(b) a full parabola T 8 G, — do 2] W AguE
(c) an ellipse Volon .
. acy o a RO
(d) part of a line o e 3(‘“?\\ A 3
(e) a hyperbola
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3. The parametric curve
~ H#3E

r=0-2t+1,y=1 -6

Qi‘@ﬁ
.

has a vertical tangent line at the point
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dy
> I

V. T when %%‘:o 913)%4'0

‘24'_’—7- =0 = Ltz sotedl

£

. _(l?.. _3t -nt \ Fo oL
RS £ acy _—
(a) (z,y) = (0,-5) (correct)
(b) (z,y) = (4,-7) Lzl = (L) 2(o)-S)
(c) (z,y) = (1,-16) ettt
(d) (z,y) = (9,-32)
(e) (z,y) = (1,0)

2 ,c\:jzzl_—

i R
4. The length of the parametric curve M T ek 2 2
T z (2%)
Vs 1; : d=y ) =& % 3
Stos r=3f—ty=10<1t<3 e G
- 2
is equal to - g et +|
72 z
@)
(a) 12 e (correct)
14 _ T 2 e
G L= [T Eyalpy o
3 o 5
ok > i i
3 :S (£ +\) ak = <%,
(d) 9 o It
o i -
() 15 RS
= A% 3

=12.
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5. The slope of the tangent line to the polar curve
~HGY

§ iu.Ll

r = 2+ cos(30)

s
at the point corresponding to 6 = 3 is equal to

3
(a) o= s (correct)
gl
(b) & dy VCese +3Jp Slab
E i Cose
(c) -3 LS - A
S\ 6
(d) 3 [?_+(¢S 636)) Gose +)- 3&“(3&)3_ "
() : [1+Cof('59’3 sme +[-= SnG)E56
: £ ) e+’ . .35
S i SR T e
: d?*- :-vd-;éﬁ_‘ —(.11_0)‘1 -+ (’3)'0
# Y0 b
& 164 6. The polar equation 6 = 3 can be converted to the rectangular equation
+an o - ""'ﬂﬂ (5—63— 3
(a) y= _gl‘ (correct)
() y= 3 = 2--3
(c) y =3z B
(d) y=—-2v3z il
V3 wieid
(& y=——=
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glasS 7. The area of the region lying in the first quadrant and inside the polar curve

#UF

£ (0.5

r? = 2cos(26) is equal to
oy a5 L Ces (20) zo
=) CoS (29) =0

B Sane
;_(correct)

6=~.

RCl

1
a —
@) 3 = TesE, R
(b)]' et & = 0 '%_I" i =
© - = i
c —_—

aaccmk

: ://_25 iy L\ W
" Ae Jxcas
(e)z ©  w/y

fl

’h‘/

= A {4

and r = 2sin# is equal to

j Cos(16) 46

LJ 9 cos(28) de
o 8

-~

&
-4 srn(’lé))o

8. The area of the region in the common interior of the polar curves r = 2(1 + cos )

i B L
&
<P

(a) 2mr — 4 = f 3 (correct)
(b) 2 — 2 A’I = area nS1a half M \%_i;_,f"j
(c) 2m +3 Eavolac - RS _ﬁ_'_%_ |
2 e s
(d) 27 +5 - LW Q) = ﬂ_% T
(e) 7+ 6 x 1\ e -ZJ |+ 2 Cos6 +Cosb dé
Ao [2arcsel 40 =]
v s N
-y
Tukd Qrea i w 1+ Ccs2€) 46
- A\tRz - 2 5 I+ 2Ces &6 « —
w ™
'ﬁ-_*'b -4 - 3 _ L cos(2e) dE
§ lj 8. L206T0 z -
1_7-_W -l‘ ﬁ/b 4 —
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~J l:ixé‘\lw\)\-h- S— %
<12 9. If the points &

P(1,-2,k), Q(k —1,1,0), R(4, 7, —2k) k

15_3& S L—Z,i{ -k

are collinear, then k3 — 2k + 10 =
2 B e

ah .
(a) 31 gy g cllienn o TR T
] h \
(b) 29 &= one Vecrw S 4 malt \)U. B :;\9_ ComP nek
— ¢ \ i 0
(c) —21 cag - AL =BT Craphes e 1R
(d) —15
(e) 0 = 3=3 e=2)
e K-t & \
e ez 3 (O:Q‘—‘P-{‘L’:?}\'
Se | ok HSE e
~ A E6F

sil.|
10. If @ =< a,b >, with a < 0, is a unit vector that is parallel to the tangent line to

the curve y = —z3 + 22 — 1 at the point (2, —5), then ab =
:j[ = —-3’:\".'.?--1"21

S\ e__3£+211 ~—124Y = =%
_i UP - X2
(a) 65 (correct)
(b) E « QA Vécher Pﬁq\\d bo Al ‘\6\1\3«& \me v £ -&>
65 : s
(©) 4 , Uny \ectes qu\\d Yo fe *ﬁwkm’t e
6 ZibEs oo LN
(d) % o Jirey
)
2 - K e S
©) & = <3‘is’-fs> . .Sés':’ax>
Ja<e

3
ab:(- 3\7:9(3;@;:\

k-
Jes
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11. In the zy-plane, if the vector u is of magnitude 2 and makes an angle of % with the

— b . ”T
positive z-axis, and the vector @ + ¥ is of magnitude 2v/3 and makes an angle of 3
with the positive z axis, then

( ) LR ~ \/_> ‘ (correct)
(b) ¥=<1,2v/3 > Wea £GsE,smES =245, B>
(c) V=<-1,0> g
D =t e w o LD
(e) V=<1,v/3 > . 'J+—\}>‘ a3 <S2%, LD
= £ o > B
i/a - G«-ﬁ -4
L oy Bl = A
A EP
12. The projection of ii =< 0,2,—3 > onto V =< 1,-1,2 > is
(2) <_é’ fl—’ §> (correct)
U.v - a -
3 3 Proj ‘.L-} - u‘v v B U\VIC}-—'Z—G"’--k
(b) <_1= ]-1 —§_> \ ’\7 “ﬁ"l “6"1: l+‘+ L{ = 6
2 -2 4 _s .
(C) <_—a __s_> o F4 \)r-||l>
3 33 2
j SO (S
) <§’ i §> = - ‘:‘3_ LNy =4y Y
8
e 4 %
(e)<0, 3’4> :4“9—51'%!3>
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~NH#H2E ZX
% 11, " 5 -
5'"1 13. The area of the triangle with vertices P &

P(2,2,2), Q(5,4,0), R(-1,1,1)
A= Pa x PE—\\ =

is equal to =3, =
g P(i =3, -20 ) P
(a) V106
t
j_ P& K_Y_S:Lz : 3 3 (correct)
3v10
(b) 9 3 e I -2
(c) 5 kb Al
- N
(d)‘/9—7 T
2
1 Ll 3L
@ Yo A=z
_y (o6
~ #5356
%rf,q
14. Let z > 0. If the volume of the parallelepiped with adjacent edges
i=<22z,-z> V=<3,z,4>, w=<5,-3,3>
is equal to 55, then 2° + 2% —4 =
9 o, -
] kV}\W) = \3 ~. q\
(a) =2 | S e k. (correct)
(b)2 = a(3% +12) -x (4-2) -2 )
(c) O - G 424 A e ¢ 4 +S°C-
@3 o ke RN e B x>0
(e) =5
Vel =S5 = Juew)l=
— S 42X+ o
So T . 1) =o
‘_‘);3*_9(‘_1 _y -—> - i -
= § N =Y iy U exBAYlE=Y) <0
i G
-~ - 'x-_3_§_’x-|

— S | as 2Ho
k—___l
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15. Which one of the following statements is TRUE:
(d, v, and w are vectors in 3D-space, Gis the zero vector)
(a) (ﬁ+\‘r')><("—\'r’)=2(\7’xﬁ) (correct)
(b) f G- Vv=14-wand 4 # 0, then V=w
() la+vP=a*+ | v
(d) If i # 6 and V # 0, then i x V # 6
(e)d-v+uxv=v-i—(-V)xu
oy TT) - Tl UK« VAU Ve
Q) (U_H/)X(U-V) ; +_\4 B —Vs\x-a
3 {,\xj (VL b e VLS
- - 2 - D _8
_ 0 = VXU »~ Vzu =
N
. 2 (VD)
2y = __';—
By TaMe U=L,y v=d g W=
p e bWYo
¢) Take Rz <yooy, VeI
- = L
== Sl V:Q\L
d) Take Rt
oA
=1 B =
ke U= ! - =) T
B %‘:«-axr/):c'u_(""\x
w \ /—4
.7._
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